TSR AARTFIRBEERE

R#EEOR METHEER)

1ER B 4 Fu64E1 A 128

(1) IRADEB (H4:FA)
\ = A FN54EE N e
Foo A T A | W TS| TR | RABULA | LA RS W
= E | |REE SR 7,995 7,995 0 7,845 -150] @15FH X Z¥FAE5334,
il 15N 2 |5 HUFIE 1 1 0 1 0
i MEOOAN | 3 [MEIOA 0 0 0 1 1
4 | EMTES (k) 3,000 3,000 0 3,000 O Rir4F B i &
AR AR || 5 |RTAERE RS (M mTES) 18,556 18,556 0 18,556 0
X A & &t 29,552 29,552 0 29,403 -149
(2) ZHDEL (BA7: T-H)
, = NS =N e
F : A ME)TRAR | AE TR | TR | R RGA | FLA R AR PRSI
EBHEO 7,262 8,965 1,703 8,774 1,512
RINEEEEN R 1,499 1,499 0 1,389 -110| £ BB BIR)
=2V iEEh S 476 476 0 476 0
2|F v R —E 2% 100 100 0 0 -100
RIpNE= )5 300 300 0 300 0
4| 2EEE AN —T Bk 333 333 0 323 -10
p-a 5[RT T4 TIEE) 290 290 0 290 0
B EAEEBE 5,763 7,466 1,703 7,385 1,622
6 | XA 200 200 0 200 0
THTEEERY (NFA5%) 138 138 0 138 0
8| 7527 LN BB, 399 399 0 387 -12
9| P S0 iR LA R 3,000 3,000 0 3,000 0
10| AV T—yay HhE 69 69 0 0 -69
H 11| [EBEEA A~ D 4 1,957 1,957 0 1,957 0
12| 2630 A G gl 0 1,703 1,703 1,703 1,703| 22250 A0 @13,2001 X 12944 %y
EERH O 277 377 100 193 —84
EHE 13| VHFE L B 2 70 70 0 60 -10
Btk 14 3815 E MRk 50 50 0 2 -48
ikt 15[ B %E 157 157 0 31 -126
ZDith 16|58 EF1E4 0 100 100 100 100] 5 FI6E e SRR ES
X B 4 i O+0=0Q 7,539 9,342 1,803 8,967 1,428
I %X aF (ABE- @) 22,013 20,210 -1,803 20,436 -1,577
F H EREERSE) THHESE 3,000 3,000 0 3,000 0
T BOREERSE SBEESKHNERE 19,013 17,210 -1,803 17,436 -1,577
& & 29,552 29,552 0 29,403 -149




